) -—— N T N SRR o SIS SR T e e PUE—

R(\ r cw(“(wm f\C JDEAS

C ((\ §S X, Ma 4_\ (}\o i a} ,w
| Q(\L T ’ DI\J 7 T/Y\ﬂ‘”"‘Q

—~—

—

T ¥ TEACHING TASK

e T ———

Ol Diamader = 2 x vedind

: A
OQ~ -2 4 il —
0 A (Ave o4 no Wfom}% ord ox¥emdd & in both
e &Ab’ec(ﬁm Wt‘b"’ Yely A = D
(/,/'-?
02 .
fw_ama/v\%' e C
o4
Secho? é Ao A
05 Y= 10w by
2
Avea= T0Y 5
- 214 x(0)
_ 214 A &
0b.| 2Ty = 3)4 i 2. o
A{Q):W-b’ .
2¥2%yy= 3" - 22y 3.4 xL Al
| vy - 2 L2
= ¥ = 34X LK 22 - "[g‘S'WL
i ¢

(3 Scanned with OKEN Scanner



TwWo '\'va? Can "‘/{

—————

Dﬁ- ii LQ,QA¥ mo‘b{: SI'M:S 'P"‘J‘C

° NO'O‘E &K&é.uv\aﬂd: Y\(V\~3)

e A:: ?' — s 1S {i,,\\\fq .C%-mkvrr\w\* | A C.

.-
_S(5) _ SAE 2 B
). -
N om b4
| Um;aacmm# — olefin -~
EJHW-\-_LI. Crzdhe Com wol be P—o(,%m)
.')_ ||A (04 C/(/{WQ o C_’

12| Gatemant 1 <-——> of A not open 0vRA

) ,S‘}'ﬂ\-MV\,QNAr (I ,_/_]\ ?\\/o\/\ oy\,Q,liM) Iﬂ{jn,k
Y\UNbW Os\r et Coam be &JFWH- Ana g
14 ~N = 100w
~ 1
C/\b’bumfvmu_zxr\;_’&x . 25 “Fon
L A 3R

G Scanned with OKEN Scanner



Ly

']

b) b’):é
C> n =10

g =i

oo &AW\Q’Q :————n(g_—g)

_ax(us) _axi= 2

—

2
b2 -9
No D = T
glox)] =35
No D = 2

~ \2x 9 =59 ﬁ,a_.g, 3/‘2,,0
No'D = ”?;"‘

CX Scanned with OKEN Scanner



| CORNERS Tpsk

=
cues o\n A
ol . (,/\V\,Q Cm’\w\z“‘w \n-{%nnl—-Q ‘2L Bf(f r‘%y\ag
PP AM
& E—
02_‘

\" i D
5‘ VMMX

02, . pwendpemi P2
6 And - A
? @ ——j_i\'w\GOLL Cusvi S
Og @ M'.B
> >< mintow nueber of - poita 2
ntercechon =\ e D
0]
. H—t And D
WT@ é’
% | Tohesics pont = P, 8 R A
9. | No- of VOrHe = ST . ¥
Jo D . e 5e) i
A 9 @W%Of O'QDP"S‘R

CE Scanned with OKEN Scanner



TEE MAWSE LEVEL QueTins (@)
o| &
(1A, L&) Adgaumt fralef
e A :
B
A g_
O 1+ >S|'dz@—e
& At - C
= U —> open urve Arvo O
04 =
é)- D g — < Sraly”g
C [ ﬁ'v\a,w A C
5
oS | o>,
05 A~DAE, oRAE e C
06 FOI‘VIM’—*B Cof'f}‘%Q (,QT"Je/f/l b‘fﬂ)P}'\ﬂ/bde ﬁs—n:('&
07)| =20 -
Longest Chowd = @?amja(::l;;zu
=40 ™ H‘M’A
0% | Dlamefon — Lo Hnite h
% Am: &

C} Scanned with OKEN Scanner



0 151G ivewy n= 20
Totad Mo of &Awﬂ:n(n—z)
_ 20X] =170
»
Lo A 0{9% V\0¥ S'?”'CO 5
o Lrogenal 1y st C_ﬁ\
m/\)wzm OPPO-Q‘ D -
ot |7 (‘e’(u‘fﬁ B0
L TTswe Qrwe NO ] e )
\ i = 170 — |
rotad o of e — 13 A C
) % OW)S,LQ Sidgt (A2, CD )
<" (0,20
D zﬁ.yy_)/C.,/
)2

CAn bormant 7 “adins  Con not+ be (foeol (Fedec)
_} loe/lWqu/(mC\YU(’Q

Hotomumt 0 (omfSe Com 1o

Ao L
=L =5 = 27&2})(5
l 2- ?__. -7 pa

CE Scanned with OKEN Scanner



(4. | Diamaker =2 % e e
‘ : ]
50 A) = % '
— -
ID)OMMWU___ZTV
_ T8 T
c))mw/ o P1XIYS
d) d=2%

== THh&

END &=

(3 Scanned with OKEN Scanner



